
 

 

Základní škola Zachar, Kroměříž, příspěvková organizace 

 

Pracovní list - řešení 
 

Předmět: Anglický jazyk – 9. týden 

Ročník: sedmý (Radka Hanáková) 

Opakování vzdělávacího celku: present simple x present continuous 

        přítomný čas prostý x přítomný čas průběhový 

 

 

přítomný čas prostý x průběhový – doplň slovesa ve správném tvaru 

 

 

a.) Who………is making……………..that terrible  noise? 

b.) Bobby……reads………………..a magazine every evening. 

c.) You can’t see Elsa now, she ………is having……………………a bath. 

d.) What ………do……….. you ………do………… in the evenings? 

e.) I usually…………drink………….tea but today I …am drinking………………..coffee. 

f.) We ………are waiting………for the shop to open .But it ……doesn’t open…….. till 

nine. 

g.) Mr. Jacoby often ………goes………..to the theatre but his wife ………doesn’t 

go………………..very often. He …likes………..all sorts of plays and Mrs. Jacoby  

……prefers………comedies. 

h.) She ………isn’t studying…………………….Spanish. 

i.) Gregory and Claire ………are having………………………..their lunch in the hotel 

room. 

j.) You ……look……………..like your sister. 

k.) He …………collects…………………stamps. 

l.) She and  her mates ………are going…………………on holiday. 

m.)  Where  …..are…….you     …………………going………..Patrick? 

n.) I ………am going…………………..to buy some cigarettes now.  

 

 

Vypracovala: Radka Hanáková 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

                                                      


